
 



 



 



 



 



 



 



à Problem 3 (b):

<< Graphics‘Graphics‘
<< Graphics‘Legend‘

EE@p_, m_D :=
�!!!!!!!!!!!!!!!!!!
p2 + m2 ;

RPlus@p_, d_, m_D :=
EE@p, mD + m
���������������������������������
2 EE@p, mD ;

RMinus@p_, d_, m_D := 1 - RPlus@p, d, mD;
Σ@d_D :=

�!!!!!!!!!!
2.0 � d;

8Σ@10D, Σ@1D, Σ@0.1D<80.141421, 1.41421, 14.1421<
DisplayTogether@Plot@RPlus@p, 10, 1D, 8p, 0, .3<,
PlotLabel ® "d=10, m=1", Frame ® True, FrameLabel ® 8"p", "R+"<,
RotateLabel ® FalseD, ListPlot@88Σ@10D, RPlus@Σ@10D, 10, 1D<<,
PlotStyle -> PointSize@0.04DDD; DisplayTogether@Plot@RMinus@p, 10, 1D,8p, 0, .3<, PlotLabel ® "d=10, m=1", Frame ® True, FrameLabel ® 8"p", "R-"<,
RotateLabel ® FalseD, ListPlot@88Σ@10D, RMinus@Σ@10D, 10, 1D<<,
PlotStyle -> PointSize@0.04DDD;
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DisplayTogether@Plot@RPlus@p, 1, 1D, 8p, 0, 3<,
PlotLabel ® "d=1, m=1", Frame ® True, FrameLabel ® 8"p", "R+"<,
RotateLabel ® False, Axes ® FalseD,
ListPlot@88Σ@1D, RPlus@Σ@1D, 1, 1D<<, PlotStyle -> PointSize@0.04DDD;

DisplayTogether@Plot@RMinus@p, 1, 1D, 8p, 0, 3<,
PlotLabel ® "d=1, m=1", Frame ® True, FrameLabel ® 8"p", "R-"<,
RotateLabel ® FalseD, ListPlot@88Σ@1D, RMinus@Σ@1D, 1, 1D<<,
PlotStyle -> PointSize@0.04DDD;
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DisplayTogether@Plot@RPlus@p, .1, 1D, 8p, 0, 30<,
PlotLabel ® "d=0.1, m=1", Frame ® True, FrameLabel ® 8"p", "R+"<,
RotateLabel ® FalseD, ListPlot@88Σ@.1D, RPlus@Σ@.1D, .1, 1D<<,
PlotStyle -> PointSize@0.04DDD;

DisplayTogether@Plot@RMinus@p, .1, 1D, 8p, 0, 30<, PlotLabel ® "d=0.1, m=1",
Frame ® True, FrameLabel ® 8"p", "R-"<,
RotateLabel ® FalseD, ListPlot@88Σ@.1D, RMinus@Σ@.1D, .1, 1D<<,
PlotStyle -> PointSize@0.04DDD;
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